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Are the triangles similar? If so, write a similarity statement

and name the postulate or theorem you Mt' explain.
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a-shadow 18 ft long, a nearby
tree casts a shadow 93 ft long. How tall is the tree?






‘ Fropor’cions within Triangles I

W is a mi&segment of AADC ..




‘ Fropor’cions within Triangles I

XY is a mi&segment of A AP ...




‘ Fropor’cions within Triangles I

What hCX_Yis Il but not a midscgmcnt of AADC ...
A

VAN




‘ Fropor’cions within Triangles I

What hCX_Yis Il but not a midsegmcnt of AADC ...




‘ Fropor’cions within Triangles I

What hCX_Yis Il but not a midscgmcnt of AADC ...

How AOCSW divide the sides of AAPD( 2



‘ Froportions within Triangles I

What i]CX_Yis Il but not a midsegmcnt of AADC ..

A
T
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How AOCSW divide the sides of AAPD( 2




‘ Froportions within Triangles I

What i]CX_Yis Il but not a midscgmcnt of AADC ...
A

AY
/\\ w e
YO
>
ya N
B - C

How AOCSW divide the sides of AAPD( 2
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‘Theorem 84 Sicle-SPlitter T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides those sides Propor‘ciona”g.
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T heorem 8-4- 5ide~5plittc—:r T heorem

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides those sides Propor‘ciona”g.
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‘Theorem 84 5ide~5plittc—:r T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides those sides Propor‘ciona”g.
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‘Theorem 84 5ide~5plittc—:r T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides those sides Propor‘ciona”g.

AX __?
XB ?
X > Y
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‘Theorem 84 5ic!e~5plitter T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides those sides Propor‘ciona”g.

AX _AY
XB YC
X > Y
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‘Theorem 84 Sicle-SPlitter T heorem I

..another way to look at the sicic~splitter thm...

16



‘Theorem 84 5ide~5plittc—:r T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides A\ into 2 Propor’ciona] N's.

17



‘Theorem 84 Sicle-SPlitter T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides A\ into 2 Propor’ciona] N's.

A

_the inner
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‘Theorem 84 Side-SPlitter T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides A\ into 2 Proportiona] N's.

A

_the inner

...an& the outer
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‘Theorem 84 Side-SPlitter T heorem I

[f alineis |l to 1 side of a A and intersects the other

2 sides then it divides A\ into 2 Proportiona] N's.

A

_the inner

...an& the outer

AAXY ~AADC
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‘Theorem 84 Side-SPlitter T heorem I

..divides A into 2 Proportional N's. ..the inner
...and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

..divides A into 2 Proportional AN's. .the inner
..and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

..divides A into 2 Proportional AN's. .the inner
A ..and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

..divides A into 2 Proportional AN's. .the inner
A ..and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

..divides A into 2 Proportional AN's. .the inner
A ..and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

..divides A into 2 Proportional AN's. .the inner
A ..and the outer

AAXY ~ AAPC
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‘Theorem 84 Sicle-SPlitter T heorem I

...clivic!zs A\ into 2 Proportional N's. ..the inner

...and tl*:e outer

AAXY ~ AADC
792 9
A 2
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‘Theorem 84 Sicle-SPlitter T heorem I

...divic!zs A\ into 2 Proportional A's. ..the inner

...and the outer

AAXY ~ AADC

AX 2 2

X > \'% A 2
B P> C
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‘Theorem 84 Sicle-SPlitter T heorem I

...divic!zs A\ into 2 Proportional A's. ..the inner

...and the outer

AAXY ~DADC
AX 2 7
B <> C
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‘Theorem 84 Sicle-SPlitter T heorem I

...divic!zs A\ into 2 Proportional A's. ..the inner

...and the outer

AAXY ~AADC

AX 2?2 7
A AB  ? 7

X > Y
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‘Theorem 84 Sicle-SPlitter T heorem I

CliViC!ZS A into 2 Proportional A's. ..the inner

nd the
AAXY AABC
AX 7?2 7

A AB  ? ?

X P Y
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‘Theorem 84 Sicle-SPlitter T heorem I

diVic!ZS A into 2 Proportional N's. ti@i:n@er

AAXY AABCL

AX _ XY _AY
A AB BC AC

X P Y
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‘5ide~5plitter Example =

i) [T ind y.
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‘ Corollar9 to Thm 84 I

If 3 || lines intersect 2 transversals

thcn the transversal scgmcnts Formed

bg the intersecting I lines are Propor’cional.
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‘ Coro”ar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segmcnts Formed

}39 the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

then the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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‘ Corollar9 to Thm 84 I

[ % || lines intersect 2 transversals

thcn the transversal segments Formed

bg the intersecting I lines are Propor’cional.
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1

Solve for x:
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‘ Example for Coro”arg to Thm 84 -
olve for x:
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‘Thm 8-5: Triang]e-Ang]c-Bisector T heorem I
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‘Thm 8-5: Triang]e-/\ng]c-ﬁisector T heorem I

If a ray bisects anZ of a A,
then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A.

P

AX - KO
Q(_B c  oC
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‘Thm 8-5: Triang]e~Ang]c~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e-/\ng]e-bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e-Ang]c-Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Propor’tional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e-Ang]c-Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Propor’tional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e-Ang]c-Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Propor’tional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e-Ang]c-Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A

CA~ 9
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A

CD_BD
CA™ 9
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A

CD_BD
CA™ 9
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‘Thm 8-5: Triang]e~Anglc~Bisector T heorem I

If a ray bisects anZ of a A,

then it divides the oPPosite side

into 2 segments that are Proportional

to the 2 other sides of the A. A

CD_BD
CA BA
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‘ Example for A-d-Pisector | hm -
4) [Find x:
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‘ L8~5 Homework Froblems I

Pg448 #1-16,25-27,29,%1-%%,%6,48-50
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